Pensionrevision

5t 6" & 7" Bipartite Retirees

Category of GOl Instructions Who is Eligible for Details of Revision
Pensioners Revision in Pension &
Arrears
5t Bipartite | The ceiling of Pension be | Pensioners who retired | Maximum ceiling of Pension has been raised from
raised to Rs. 3775/- p.m. | between 01.11.1987 to | Rs. 2400/-to Rs. 3775/-.
w.e.f. 01.11.1987 31.10.1992 - Only those pensioners who are presently in

receipt of basic pension equal to Rs. 2400/-
are eligible for revision / arrears.

In all such eligible cases, basic pension will be
recalculated on the basis of the average
salary paid in the last 12 months of service.

In cases where such calculated basic pension
falls between Rs. 2400/- to Rs. 3775/-, the
actual amount calculated will be the new basic
pension.

In cases where such calculated basic pension
is above Rs. 3775/-, the maximum ceiling i.e.
Rs. 3775/- will be taken as the new basic
pension fixed.

6" Bipartite

The ceiling of pension be
raised to Rs. 4250/- p.m.
w.e.f. 01.11.1992 for Award
Staff and from 01.07.1993 for
officers instead of 01.11.1993

Pensioners who retired
between:

Officers:

01.07.1993 to 31.10.1993
Award Staff:

01.11.1992 to 31.10.1993

Maximum ceiling of Pension has been raised from
Rs. 2400/- to Rs. 4250/-.

only those pensioners who are presently in
receipt of basic pension equal to Rs. 2400/-
are eligible for revision / arrears.
In all such eligible cases, basic pension will be
recalculated on the basis of the average pay
in the last 12 months of service.




In cases where such calculated basic pension
falls between Rs. 2400/- to Rs. 4250/-, the
actual amount calculated will be the new basic
pension.

In cases where such calculated basic pension
is above Rs. 4250/-, the maximum ceiling i.e.
Rs. 4250/- will be taken as the new basic
pension fixed.

7t Bipartite

The maximum amount of
pension for the pay upto Rs.
14240/- p.m. shall be
computed at 50% of the pay
and where the pay is above
Rs. 14240/- p.m. be computed
at 40% of the pay w.e.f.
01.11.1997 for Award Staff
and 01.04.1998 for Officers.
The payment of pension for
the period between
01.11.1997/01.04.1998 to
30.04.2005 be made by
arriving at the corresponding
stage by dividing the average
basic pay by 1684 and
multiplying it by 1616 subject
ti @ minimum of Rs. 6883/- for
40% slab (=half of Rs. 14240/-
multiplied by 1616 and divided
by 1684), and thereafter, as
computed subject to minimum
of Rs. 7120/- for 40% slab)

Pensioners who retired
between:

Officers:

01.04.1998 to 31.10.2002
Award Staff:

01.11.1997 to 31.10.2002

In this category of pensioners, pay as per 6t
bipartite settlement was originally reckoned
for the purpose of calculation of basic
pension.

Now as per amendment, pay as per 7t
bipartite has to be reckoned for calculation of
basic pension.

In cases where corresponding pay as per 7t
bipartite is upto Rs. 14240/-, basic pension to
be calculated @ 50% of average pay and
thereafter, above Rs. 14240/-, basic pension
to be calculated @ 40% of average pay with
minimum of Rs. 7120/-.

For the period 01.11.1997 / 01.04.1998 to
30.04.2005, the average pay (as per 7t
bipartite) will be divided by 1684 and
multiplied by 1616, subject to a minimum of
Rs. 6883/- for 40% slab (= half of Rs. 14240/-
multiplied by 1616 and divided by 1684), and
thereafter, as computed subject to minimum
of Rs. 7120/- for 40% slab.




